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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct; fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question.

(D) () (B) (A) Questions 0 #1
. . 1
3-by-2 2-by-1 I-by-2 2-by-2 R aad
Which is order of a square matrix?
_. 12
5+4i 5-4i -5-4i —5+ & e 4
The conjugate of 5 + 4i is
; 3
0 o 0 . et PRI S
The logarithm of unit to any base is
. w| 4
0.4343 2.2096 2.3026 24343 ‘LL"‘WJZOge
The value of log )"’ is
;',15[,»4/:5 sl 5}5 Az - u’/.’{":g4x+ 3y—2 )
In equation Equation Sentence Expression 4x + 3y — 2 is an algebraic
-gé_lgdd'/gf(xz+4x+mgj.£cag/d/m 6
16 4 -8 8 Find m so that X’ + 4x + m is a complete
square
+
Ox+ 39 (4F | (x-3p @ | ETI L o 3 4 bpeamisd 2|
+ 9y -9 (B -0+ ey + 97 E 3
9) Factor of 8x” + 27y are
8
) 2
a+1 a—1 +(a—1) +(a+1) NG CJ/J!./ZKa 2art
The square root of a”—2a + 1 is
_ . ~ / 9
(_1’ _]) (]’ 1) (_], ]) 1'_1; _c‘_/J/.(x;y)}’}’?(X*l,y*'1)—(0,0)/(’
If(x=1,y+1)=(0,0) then (x, y) is
_ e b k0, D1 )56 | 10
2 V2 1 0 Distance between points (1, 0) and (0, 1)
is
. o | 11
4 3 P ] ‘wgﬂz_/ééf/w
How many end points has a ray?
m/1 =—:ABCDLwu 5 | 12
A B
m< 3 m<Z4 ms2 m< 1
(o D
In parallelogram ABCD, m /1=




dogn 4 Tosf » Y200 S cot L Let/ | 13
Equal ( Perpendicul E 'u;z / The bisectors of the angles of a triangle
distance Concurrent ar 4 are
e kPG| !
3em’ 27 em’ 9 cm’ 18 cm’ 3cm
6 cm
What is the area of given figure
ufc«v”(}/ 14,/»;94;;@«,2’,&@ 15
11 2:1 3:1 1:1 gAY

The medians of a triangle cut each other

in the ratio
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Part 1! >

2.Answer briefly any six parts from the following. 6 x 2 = 12-@/’/4}@@1;?/’21’7.!m:c;d}(c;u:d:}@/}-Z

Define symmetric matrix. - /A - /7 J ) S PN O)
Find the product of [-3 o] [é] -é(ﬁl’” %/bcjjla (ii)
Define rational numbers. - /. - /7 J g1yl Jb b (iii)

(V3 - 3::2': write in the form of a + bi-u.‘.“’au.‘.'dﬁd/a + bif{_\ IS 3;:): (iv)
Logi, = "/;Finthe value of x Logi, = * .“E-Q/(!b‘”&g&‘x” (v)

Calculate Log? x Logs -épl"&g(!_f.ogf % Logs (vi)

Loge ™ = nlog,™ Provethatiog, "~ = niog:”"fécf.b"(vii)
= V12Gsimplify - .V125.0/ (viii)
Factorize 27 + 8x° 27 + 8x3_u:/'/df:‘ (ix)

3.Answer brieflyany six parts from the following. 6 x 2 = 12-@/4}@@13/‘:?1!2!q:’c;«d}(c;u:d}@/}_f}
(34 V3)(3 - v3)simplify (3+ v3)(3-3)-u/~ ()
13x — 5| = 4Solve [3x — 5| = 4-Z= F (i)

xeR 3x + 1 <5x —4Solve the in equation 3x + 1 <5x— 4-5(}01(:«!5[/} (iii)

Define Cartesion Plane -i..g/?d/dﬁf”u“: JK (iv)
Define line segment. éb{{l /7 d/b.xb; v)

Find the distance between two points A and B. WhenA (9, 2), B (7, 2).& g (:l"” deb U2 ZBaIALE (vi)
Find the midpoint of the line segment joining A (2 , 5) andB (-1 , 1)-5 ()V,bﬁdyﬂﬁ (2,5),B(-1,1) b1 (vii)

Find the unknown values of x and m for the given congruent triangles_’fé ('}" N4 d/ x/31 m(}L’” L‘Luf'p J»L?‘ (viii)
A

55 (5x + 5§

B S5m-3 D 2m+6 C
Define median of a triangle -é - /7 d/ %wf‘}éw (ix)




4.Answer briefly any six parts from the following. 6 x 2 = lz-qf/(/“/“aglﬁ/igé!'].!{Ld/@gﬂdn5@/)-4
Find the H.C.F. of expressions 39x" y’ zand 91 x° y° 27-§|')L’”f);!m Ku}; (1)

Define LCM  ~22 ey S P 1 ibiss (i

v}

In figure, P is any point lying away y e 5 Y
from the line AB. Then m PL will be 'éz'dl’ﬁELABbMUg&[Pu:‘ﬁ (ii)
the shortest distance if mZ/PLA = 90° gﬁ{LUPG(VLABDm B lels
or m/PLA = 80° or m/PLA =70° or _
mZPLA = 100° ) . {m £ PLA = 90°J1-
< L
A L B m{m / PLA=70°%m /£ PLA=80°
Z PLA=100°

Define similar triangles.-’fébéi /7 d/ ut"ﬁ'f‘,l‘}'x @iv)

What is Pythagoras Theorem . -‘L[{(&/}; G L (v)

Define bisector of an angle.-’fébéj/yd/dftgd;l) (vi)

Define Rectangular region. Zi{ -l /7 d/ J/Jl);/ (vii)
Define Incentre.-”cf:r - /7 J s /&ull (viii)

Construct AABC, in which m ZE=32cm , mEC=42cm ,m CZ=52cm-UsU° &b ABCEL (ix)

Part II(:} 2

8x3= /24y F ezl et ne SOl-a S8 A e

Note: Question 8 is compulsory. Attempt any two questions from the remaining. 8x3=24
3x—2y=4 , -6x + 4y =7 Solve the equation by Cramer’s rule -;{J’J»Ju)b“L/:fiuibvénd:(_ﬂl -5
(218) mx(25)72 . . (218 mx(zm) e o
. ok Slmphfy\ oon "% E A

If 2x — 3y = 10 and xy = 2, then find the value of 8x” — 27y3.,’.é,':1’”c»§ §8x% = 27y’ T sxy = 2.52x — 3y = 105(3 -6

Factorize cubic polynomial by factor theorem. x> +x%— 10x + 8-"4{ S /“ d/ UM (} SHG s e s d/ $ /’ Lo

- 1 )

x — 4 — 2 = 0Solve the equation and check for extraneous solution. ,’édb}w! éd" Febl( -7

e

el elgiurmABE =48 cm, mBC=3.5cm, m AC =4 cmyt § U2 LEABCALL(L

[wi]

Constructa A ABC in whichm A5 =4.8 cm, m B€C=3.5cm, m AC =4 cm and draw its medians.
K S Gslr s L3 A8 ﬁoﬁinél,4wvd,/gﬁbgﬁu’(ﬁ LA -8

Any point on the right bisector of a line segment is equidistant from its end points.

OR L

Triangles on equal bases and of equal altitudes are equal in area. _gf AU LIE S 3R LN S 13 e i et



